

State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

, Do	ouglas P Meeks	_, after being first duly sworn, depose and state as foll	ows:
1.		rewer & Company of WV, Inc.; and,	
2.	I do hereby attest that _	Brewer & Company of WV, Inc. (Company Name)	
	maintains a written plan policy are in compliance	n for a drug-free workplace policy and that such plan a with West Virginia Code §21-1D.	nd
The a	above statements are swo	orn to under the penalty of perjury.	
		Printed Name: Douglas P Meeks Signature: President Company Name: Brewer & Company of WV, Date: 2.11.25	Inc.
STAT	TE OF WEST VIRGINIA,		
COU	NTY OF Kanawha	, TO-WIT:	
Take By C (Sea	Commission expires	NOTARY PUBLIC (Notal y Public) MORRIS RIVER RD.	
	TORNADO, 1 My Commission Expir		uly 7, 2017

Rev. July 7, 2017

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

	Sales & Service	
(Name, Title) Casey Harbour	Sales & Service	
(Printed Name and Tit 3601 7th Avenue, Char		
(Address) 304.744.5314 / 304.744	ł.4899	
(Phone Number) / (Fa casey.harbour@brewer		
(Email address)		

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that: I have reviewed this Solicitation/Contract in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation/Contract for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

Brewer & Company of WV, Inc.	
(Company)	
Dar his med	•
(Authorized Signature) (Representative Na	me, Title)
Douglas P Meeks, President	2.11.25
(Printed Name and Title of Authorized Rep	resentative) (Date)
2.11.25	
(Date)	
304.744.5314 / 304.744.4899	
(Phone Number) (Fax Number)	
doug.meeks@brewerfire.com	
(Email Address)	

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.:

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received: (Check the box next to each addendum received)	ived)
Addendum No. 1 [] Addendum No. 2 [] Addendum No. 3 [] Addendum No. 4 [] Addendum No. 5	[] Addendum No. 6 [] Addendum No. 7 [] Addendum No. 8 [] Addendum No. 9 [] Addendum No. 10
further understand that any verbal represer	eipt of addenda may be cause for rejection of this bid. I entation made or assumed to be made during any oral statives and any state personnel is not binding. Only the the specifications by an official addendum is binding.
Brewer & Company of WV, Inc. Company Authorized Signature	

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

2.14.25

Date

Subcontractor List Submission (Construction Contracts Only)

Bidder's Name: BREWER = Company OF WY, INC.

Check this box if no subcontractors will perform more than \$25,000.00 of work to complete the project.

Subcontractor Name	License Number if Required by
	W. Va. Code § 21-11-1 et. seq.



State of West Virginia Agency Request for Quote

			Reason for Modification:
Proc Folder:	1616303		Reason for Mounication.
Doc Description	n: Fire Alarm and Fire Prote	ection Systems Contract	
B	Agency Master Agreeme	ent	
Proc Type:	Agency Waster Agreeme		Version
Date Issued	Solicitation Closes	Solicitation No	Version
2025-01-29	2025-02-14 10:30	ARFQ 0608 DCR2500000077	1

BID RECEIVING LOCATION	
BID RECEIVING LOCATION	ALEXA AND APPROXIMATION AND APPLICATION OF THE APPL

VENDOR

Vendor Customer Code:

Vendor Name: Brewer & Company of WV, Inc.

Address: 3601 7th Avenue

Street:

City: Charleston

Zip: 25387 Country: USA State: WV

Principal Contact: Casey Harbour

Vendor Contact Phone: 304.744.5314 Extension: 421

FOR INFORMATION CONTACT THE BUYER

Philip K Farley (304) 549-1050 philip.k.farley@wv.gov

Vendor Signature X FEIN# 550-0334215

DATE 2/11/25

FORM ID: WV-PRC-ARFQ-002 2020/05

All offers subject to all terms and conditions contained in this solicitation

Page 1 Date Printed: Jan 29, 2025

ADDITIONAL INFORMATION

The West Virginia Division of Corrections and Rehabilitation (DCR) is soliciting bids to establish an open-ended contract per each, thirty (30) facilities, to provide inspections, testing, repairs, replacement parts, and installation of new devices and equipment for the fire alarm and fire protection systems, fire doors, and backflow preventer devices at multiple facilities.

INVOICE TO		SHIP TO
DIVISION OF CORRECTION - CENTRAL OFFICE	DNS	DIVISION OF CORRECTIONS - CENTRAL OFFICE
1124 SMITH STREET		1409 GREENBRIER ST STE 300
SECOND FLOOR		
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Total Contract Bid Amount	1		\$383,750.00 See Exhibit E for p	\$383,750.00 ricing per facility

Comm Code	Manufacturer	Specification	Model #	
92121702				

Extended Description:

Fire Alarm and Fire Protection Systems Contract

SCHEDULE OF EVENTS

<u>Line</u>	Event	Event Date	
1	Questions Deadline at 2:00 PM E.S.T.	2025-02-05	
2	Bids Due by 10:30 AM E.S.T	2025-02-14	

	Document Phase	Document Description	Page 3
DCR2500000077		Fire Alarm and Fire Protection Systems Contract	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

	Document Phase	Document Description	Page 4
DCR2500000077		Fire Alarm and Fire Protection Systems Contract	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

BID BOND

KN	OW ALL MEN BY THESE PRES	SENTS, That we, the un	ndersigned, Brewer & Company of West Virginia, Inc.
0	ar region of the		, as Principal, and Ohio Farmers Insurance Company
0	Westfield Center ,		a corporation organized and existing under the laws of the State of
ОН	with its principal office in t	the City of Westfiel	d Center , as Surety, are held and firmly bound unto the State
of West Virg	inia, as Obligee, in the penal su	m of Five Percent of A	Amount Bid (\$ 5%) for the payment of which
			our heirs, administrators, executors, successors and assigns.
The	e Condition of the above obliga	ation is such that when	reas the Principal has submitted to the Purchasing Section of the
Department	of Administration a certain bid o	r proposal, attached he	reto and made a part hereof, to enter into a contract in writing for
Fire Alarm	and Fire Protection System	s Contract	
NO	W THEREFORE,		
(a)	If said bid shall be rejected	d, or	abell cates into a contract in accordance with the bid or propose
(b) attached he	reto and shall furnish any other	bonds and insurance re	shall enter into a contract in accordance with the bid or proposal equired by the bid or proposal, and shall in all other respects perform
the agreeme	ent created by the acceptance of	f said bid, then this oblid	gation shall be null and void, otherwise this obligation shall remain ir
	d effect. It is expressly underst ed the penal amount of this oblig		ne liability of the Surety for any and all claims hereunder shall, in no
ovom, onooc	and portal amount of and oblig	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
The	Surety, for the value received,	hereby stipulates and	agrees that the obligations of said Surety and its bond shall be in no
	d or affected by any extension of any such extension.	of the time within which	ch the Obligee may accept such bid, and said Surety does hereby
			and Surety, executed and sealed by a proper officer of Principal and
Surety, or by	Principal individually if Principa	al is an individual, this_	14th day of February , 2025 .
			Brewer & Company of West Virginia, Inc.
Principal Se	al		(Name of Principal)
			2 Prosident
3330			(Must be President, Vice President, or
EEES	27		Duly Authorized Agent)
EC			1) less. my
			(Title)
· · · · · · · · · · · · · · · · · · ·		NSUA	
Surety Seal		ANTER	Ohio Farmers Insurance Company (Name of Surety)
		89 1848	(Name of Surety)
		10 *	By: Dammes & Selho
		San Common of the	Tammy S. Selbe Attorney-in-Fact
			The state of the s

IMPORTANT – Surety executing bonds must be licensed in West Virginia to transact surety insurance, must affix its seal, and must attach a power of attorney with its seal affixed.

证 包置 4 约7

Strate Section 1	
a seese of degree 4 Compray of West Masking Low	聯方的 沙爾 "我们一想到这些话的东西的外面,"在我们还是这个人会没有
e Hunda, ad Oho Falmers usurangs 9948agv_	
is the first to such our relating solve of the freshward normand on $\kappa_{\rm c}$	MC PROPRIES NO.
id Content as Straet, are told one lensly beam and the store	(a) the eight of the second of
केर मुख्याती हैंसीते	af West Sagans, La Calipso, as de pendi sum a<u>s film). Harberti (d.)</u> Saga best tople to the more, van joiluly land areat illy bird germanan, o
ease are throughly to automitted to the françoism particulation of the	echo 1070 china zi na impikao avuotz orto in mobilingui (m.)
अपने हार्य कार्य के कार्य के कार्य के कार्य का कार्य कर कार्य के कार्य के कार्य के कि अपने कार्य के कार्य के क	vil legite alla dissociati, sociati compresi le con espiritat. A la arcindente pril
The second of the second secon	Cha Aleta and Fina Protection Systems Contract
and the second of the second o	CONTROL OF THE CONTRO
	INCOMENSATION.
	academic parent structure (6)
is a triggion to the firm of the control transposition of the place of the big the district that it signs that to the self mode of the self firm of the control to this end, the district of the control transposition of the control firm of the control transposition of the contro	is pura company a significant a la popular de la propieta de la company
ela di digentra bisoti all'Entregendo messal progressioni con configurationi. Vontanti tensi intigli inserta la Jan Flori e pubba elle se più la servito	and a substantia kurus. Taka sababa sebaba kurus kurus kalendia. Ang kabuputu ali kurus bah bah kalenda kalenda kurus kalenda kurus kalenda kalenda kalenda kalenda kalenda kal Ang ali kalenda kurus kurus kalenda k
	The spinor of th
ferrandro de al radio a la regió e se esta esta esta alta a la regió de la como esta esta de la como esta de l La como esta de la como esta d	o talle and Richard Suns terreberger grower kontrol over 1999. Denne astalise for the college and a second of the original of the first second
drowers for prepared by the bliggists from the comments of the	
The Miles of the State of the S	
Chio Familia e cultura Company	
Control to tention the second	
Tempor St. Selber Stein new Schlieber in websitts in seek and	
क्षा के कि एक एक इन्स्क अपना । स्थापन क्षाप्रकार कृष्णाया (ac miles C) स्थापन क्षाप्रकार के क्षाप्रकार के क्षा विकास	स्थित क्षात्र होते हैं। इस का का उपनाम है सामार्थ है सामार्थ है है। इस है कि इस है कि इस है कि इस है इस होता है कि की का का का का का का को कि है है कि इस है

CERTIFIED COPY

Westfield Insurance Co. Westfield National Insurance Co. Ohio Farmers Insurance Co.

Westfield Center, Ohio

Know All Men by These Presents, That WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY, corporations, hereinafter referred to individually as a "Company" and collectively as "Companies," duly organized and existing under the laws of the State of Ohio, and having its principal office in Westfield Center, Medina County, Ohio, do by these presents make, constitute and appoint Tammy S. Selbe

and State of WV its true and lawful Attorney(s)-in-Fact, with full power and authority hereby conferred in its name, place and stead, of to execute, acknowledge and deliver the following bond:

Surety Bond Number: Bid Bond

Principal: Brewer & Company of West Virginia, Inc.
Obligee: State of West Virginia

and to bind any of the Companies thereby as fully and to the same extent as if such bonds were signed by the President, sealed with the corporate seal of the applicable Company and duly attested by its Secretary, hereby ratifying and confirming all that the said Attorney(s)-in-Fact may do in the premises. Said appointment is made under and by authority of the following resolution adopted by the Board of Directors of each of the WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY:

"Be It Resolved, that the President, any Senior Executive, any Secretary or any Fidelity & Surety Operations Executive or other Executive shall be and is hereby vested with full power and authority to appoint any one or more suitable persons as Attorney(s)-in-Fact to represent and act for and on behalf of the Company

subject to the following provisions:

The Attorney-in-Fact may be given full power and authority for and in the name of and on behalf of the Company, to execute, acknowledge and deliver, any and all bonds, recognizances, contracts, agreements of indemnity and other conditional or obligatory undertakings and any and all notices and documents canceling or terminating the Company's liability thereunder, and any such instruments so executed by any such Attorney-in-Fact shall be as binding upon the Company as if signed by the President and sealed and attested by the Corporate Secretary."

"Ba It Further Resolved, that the signature of any such designated person and the seal of the Company heretofore or hereafter affixed to any power of attorney

or any certificate relating thereto by facsimile, and any power of attorney or certificate bearing facsimile signatures or facsimile seal shall be valid and binding upon the Company with respect to any bond or undertaking to which it is attached." (Each adopted at a meeting held on February 8, 2000).

In Witness Whereof, WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE

COMPANY have caused these presents to be signed by their National Surety Leader and Senior Executive and their corporate seals to be hereto affixed this 01st day of May A.D., 2024.

Corporate Seals Affixed

State of Ohio County of Medina SS.: CONAL

WESTFIELD INSURANCE COMPANY WESTFIELD NATIONAL INSURANCE COMPANY OHIO FARMERS INSURANCE COMPANY

By: Gary W. Stumper, National Surety Leader and Senior Executive

On this 01st day of May A.D., 2024, before me personally came Gary W. Stumper to me known, who, being by me duly swom, did depose and say, that he resides in Medina, OH; that he is National Surety Leader and Senior Executive of WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY, the companies described in and which executed the above instrument; that he knows the seals of said Companies; that the seals affixed to said instrument are such corporate seals, that they were so affixed by order of the Boards of Directors of said Companies; and that he signed his name thereto by like order.

Notarial Seal Affixed

State of Ohio County of Medina

SS.:



and a local

David A. Kotnik, Attorney at Law, Notary Public My Commission Does Not Expire (Sec. 147.03 Ohio Revised Code)

I, Frank A. Carrino, Secretary of WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY, do hereby certify that the above and foregoing is a true and correct copy of a Power of Attorney, executed by said Companies, which is still in full force and effect; and furthermore, the resolutions of the Boards of Directors, set out in the Power of Attorney are in full force and effect.

In Witness Whereof, I have hereunto set my hand and affixed the seals of said Companies at Westfield Center, Ohio, this day of A.D., February 2025





Frank A. Carrino, Secretary

A company California Cale organizació per distar. Se (的复数形式精制)。 计图解符号 经经济的现在分词 大阪主義所謂 电影性 医克克氏征

रोपक**्षक्रा**के ५ ५ प्रमु

ran (minus a personal statement of the greating of medical property and make the contract of the minus of minus Benefit for the statement of the personal and the contract of the medical statement of the statement of the contract of the co

om o manuspala nanguno sudang mendigina. Tahung menguno senggan mengunok nangunok nangunok mengunok nangunok nangunok nangunok sengunok nangunok nangun

ing (New Spagness) provide Attack Consider Attacker (1) (2000) Attacker (1) (2000) Double (1) (2001) Attacker (1) (2001) Attacker (1) (2001)

The second particle and the second process of the second process o

to and it organization to the argin and garrendes of each governing in the experiment of each and had a grain There is not be the common of the control of the angle of the provided and the section of the provided and the section of the control of

क्षा ते केंग्रेस र पुरुष्टि । १००० (१०५८

esta de carres. 1. 12 12.00

San Anthropological Statement Control Statement

1000

garment, it die

to estimate

्रा (विकास क्षेत्रक क विकास क्षेत्रक क्षेत्र

THE FOR THE TRANSPORT OF STATE OF STATE

THE STATE OF THE STATE OF A STATE OF THE STATE

THE STATE OF THE STATE OF THE PROPERTY OF THE STATE OF THE ST

्राक्षण्याः ५० राज्यस्थितः मृत्यन्तिसः

CONTRACTOR LICENSE

AUTHORIZED BY THE

West Virginia Contractor Licensing Board



NEST VIRGINIA

WV001124

CLASSIFICATION:

ELECTRICAL
SPRINKLER AND FIRE PROTECTION
SPECIALTY
LOW VOLTAGE SYSTEMS <80 VOLTS

BREWER & COMPANY OF WV INC DBA BREWER & COMPANY OF WV INC PO BOX 3108 CHARLESTON, WV 25331-3108

DATE ISSUED

EXPIRATION DATE

AUGUST 12, 2024

AUGUST 12, 2025

Authorized Signature

Chair, West Virginia Contractor Licensing Board



A copy of this license must be readily available for inspection by the Board on every job site where contracting work is being performed. This license number must appear in all advertisements, on all bid submissions, and on all fully executed and binding contracts. This license is non-transferable. This license is being issued under the provisions of West Virginia Code, Chapter 30, Article 42.



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 01/09/2025

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(les) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

this certificate does not confer rights to the	certificate holder in lieu of si	uch endorsement(s).		
PRODUCER		NAME: Rhonda Wolford		
Garlow Insurance Agency. Inc.		PHONE (A/C. No. Ext); (304)347-8972 ext 138	FAX (A/C, No): (304)3	47-8973
P O Box 5052		E-MAIL ADDRESS: rwolford@garlowinsurance.com		
		INSURER(S) AFFORDING COVERAGE	3E	NAIC #
Charleston	WV 25361	INSURER A : THE PHOENIX INSURANCE CO	MPANY	25623
INSURED		INSURER B: Travelers Prop Cas Co Of Americ	ca	25674
		INSURER C: Travelers Prop Cas Co Of Americ	ca	25674
Brewer & Company Of WV Inc.		INSURER D : CHARTER OAK FIRE INS CO		25615
PO Box 3108		INSURER E : Lloyd's of London		15792
Charleston	WV 25331	INSURER F :		

REVISION NUMBER: CERTIFICATE NUMBER: THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. COVERAGES

NSR TR	CLUSIONS AND CONDITIONS OF SUCH	ADDL	SUBR	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	PULICIENT I	LIMITS	
.IK	CLAIMS-MADE X OCCUR	Na.					E CLEAR SA BEINER	\$ 1,000,000 \$ 500,000
	CLAIMS-MADE () OCCUR							\$ 10,000
	X Contractual Liability	N	N	CO-0J025826	12/31/2024	12/31/2025	PERSONAL & ADV INJURY	\$ 1,000,000
Α		'`		00 00010010			GENERAL AGGREGATE	\$ 2,000,000
	POLICY PRO-						PRODUCTS - COMP/OP AGG	\$ 2,000,000
			·					\$
_	OTHER. AUTOMOBILE LIABILITY	-	-				COMBINED SINGLE LIMIT (Ea accident)	\$ 1,000,000
	X ANY AUTO		1				BODILY INJURY (Per person)	\$
В	OWNED SCHEDULED	N	N	810-1L612492	12/31/2024	12/31/2025	BODILY INJURY (Per accident)	\$
Б	HIRED AUTOS NON-OWNED	'	''	0,0 12012 102			PROPERTY DAMAGE (Per accident)	\$
	AUTOS ONLY AUTOS ONLY		ĺ				Comp / Collision Ded	\$ 500 / 1000
	phys damage hired PD www.phys.damage hired PD www.phys.damage hired PD	 	-				EACH OCCURRENCE	\$ 6,000,000
С	EXCESS LIAB CLAIMS-MADE	N	N	CUP-0J044226	12/31/2024	12/31/2025	AGGREGATE	\$ 6,000,000
C	10,000	╣'`	''	00. 000.				\$
	WORKERS COMPENSATION \$ 10,000	1	<u> </u>				X PER X OTH-	Incl WV Broad Forr
	AND EMPLOYERS' LIABILITY ANY PROPRIETOR PARTNER EXECUTIVE				10010001	10/01/0005	E L. EACH ACCIDENT	\$ 1,000,000
D	OFFICER MEMBER EXCLUDED? N	N/A	N	UB-9H577802	12/31/2024	12/31/2025	E L DISEASE - EA EMPLOYEE	
	If you describe under	İ	i				E.L. DISEASE - POLICY LIMIT	\$ 1,000,000
	DESCRIPTION OF OPERATIONS below	 	1				Per Claim/Aggregate	\$2,000,000
Ε	Professional Liability including Pollution	N	N	PLC-02232-01	12/31/2024	12/31/2025	Deductible	\$15,000/\$45,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required)

Leased/Rented Equipment Coverage - \$100,000 per item. Workers Compensation covered states-KY, MD, NC, PA, VA, WVMV Deliberate Intent included.

CERTIFICATE HOLDER	CANCELLATION
WV Division of Corrections	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
1409 Greenbrier Street	AUTHORIZED REPRESENTATIVE
Charleston	WV 25311 ACORD CORPORATION All rights reserved

Fax:

Email:

@ 1988-2015 ACORD CORPORATION. All rights reserved.

Facility Bid Amount Pricing Page

17	V 4 (4 D	Unit Price Per Year For	Annual Price For All	
Inspections and Testing	Units (Annual)	All Required Inspections and Testing	Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$450.00	\$450.00	
	A Y 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		Subtotal A:	\$450.0
		Occated Disconsisted	Annual Price For All	
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Required Inspections and Testing	
Fire Protection Systems Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$250.00	\$1,000.00	
			Subtotal B:	\$1,000.00
		7	Unit Price Per Semi	Annual Price For All
Inspections and Testing	Units	Units (Semi-Annual)	Annual For All Required Inspections and Testing	Required Inspections and Testing
Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$350.00	\$700 00
	7 8 1		Subtotal C:	\$700.00
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	* 24	\$125.00	\$3,000.0
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.0
Holiday Time Labor Rate	Hour	4 4	\$50.00	\$200.0
	1 1 2 3	-	Subtotal D:	\$4,600.0
Parts Quote	Estimated	I Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2	,000.00	35.00%	\$2,700.00
			Subtotal E:	\$2,700.00
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection Fire Door Inspection	1	10	\$40.00	\$400.00
	- 10 % /		Subtotal F:	\$400.0
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
				65.00
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00
Backflow Preventer Devices	1	5	\$1.00 Subtotal G:	\$5.00
Backflow Preventer Devices		5 BID AMOUNT (by adding sub	Subtotal G:	
Backflow Preventer Devices Inspection/Testing Uvendor can do programing on multiple fire alar	FACILTY	BID AMOUNT (by adding sub	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.0
Backflow Preventer Devices Inspection/Testing Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information:	FACILTY rm systems listed below: (*) ss, Edwards Systems, Hone	BID AMOUNT (by adding sub Yes / No) yywell, Johnson Controls, Potter.	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.0
Backflow Preventer Devices Inspection/Testing Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name:	FACILTY	BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.0
Backflow Preventer Devices Inspection/Testing Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name: I Address.	FACILTY rm systems listed below: (*) is, Edwards Systems, Hone Brewer & Company of WV	BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.0
Backflow Preventer Devices Inspection/Testing Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name: Address. Phone No.: Fax No.:	FACILTY rm systems listed below: (*) ss. Edwards Systems, Hone Brewer & Company of WA 3601 7th Ave., Charleston,	BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.0

NOTES:

^{*} Quantities are estimated for bid evaluation purposes only.

* Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Charleston Correctional Center and Jail, 1356 Hansford Street, Charleston, WV 25301

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems				
Fire Alarm Systems and Batteries	1	\$600.00	\$600.00	ľ
			Subtotal A:	\$600.00
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems				
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$300.00	\$1,200.00	
			Subtotal B:	\$1,200.00
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems			mspections and resting	resting
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$350.00	\$700.00
			Subtotal C:	\$700.00
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00
			Subtotal D:	\$4,600.00
Parts Quote	Estimate	d Parts Cost **	Markup Percentage	Extended Amount
Parts		2,000.00	35.00%	\$2,700.00
	1 1871-10 - 10	790	Subtotal E:	\$2,700.00
		Estimated Number of Fire	Unit Price Per Annual For All Required Inspections	Annual Price For All Required Inspections and
Fire Door Inspection	Units (Annual)	Doors *	and Testing	Testing
Fire Door Inspection	Units (Annual)	Doors *	and Testing	Testing

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection				
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$10,205.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.

Yes

Name:	Brewer & Company of WV, Inc.
Address:	3601 7th Ave., Charleston, WV 25387
Phone No.:	304-744-5314
Phone No.: Fax No.:	304-744-4899
Email Address:	doug.meeks@brewerfire.
Authorized Signature	8/01/19

^{*} Quantities are estimated for bid evaluation purposes only.

^{**} Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Fire Alarm Systems and Batteries 1 1400 S1,400.00 Subtotal A:	Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Inspections and Testing Units (Quarterly) Required Inspections and Testing Fire Protection Systems Fire Protections Systems including - Sprinker Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems Units Units Units (Semi-Annual) Inspections and Testing Units Units (Semi-Annual) Inspections and Testing Units Units (Semi-Annual) Inspections and Testing Unit Price Per Semi Annual For All Required Inspections and Testing Inspections Systems Fire Protection Systems including - Kirchen Fixed Fire Suppression Systems and Fire Extinguishers Subtotal C: Subtotal C: Subtotal C: Subtotal C: Subtotal C: Subtotal D: Subtotal D: Fire Door Inspection Fire Door Inspection Units (Annual) Fire Door Inspection I units (Annual) Estimated Number of Fire Doors * All Required Inspections and Testing Doors * All Required Inspections and Testing Doors * All Required Inspections All Required Inspections All Required Inspections All Required Inspections and Testing Devices * Backflow Preventer Devices Inspection Testing Subtotal G:					
Inspections and Testing Units (Quarterly) Required Inspections and Testing Fire Protection Systems Fire Protections Systems including - Sprinker Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems Subtotal B: Units Units (Semi-Annual) Inspections and Testing Unit Price Per Semi Annual For All Required Inspections and Testing Fire Protection Systems Fire Protection Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers Extinguishers Unit of Measure Required Inspections Annual For All Required Inspections and Testing Subtotal B: Unit Price Per Semi Annual Fire Suppression Systems and Fire Extinguishers Unit of Measure Required Inspections Annual Hours Estimated Annual Hours Required Inspections Annual Hours Estimated Namber of Fire Door Inspection Fire Door Inspection Units (Annual) Estimated Number of Fire Doors All Required Inspections and Testing Fire Door Inspection Fire Door Inspection Units (Annual) Estimated Number of Backflow Preventer Devices Inspection Testing Units (Annual) Estimated Number of Backflow Preventer Devices Inspection Testing Estimated Number (by adding subtotals A, B, C, D, E, F and G): FACILITY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):	Fire Alarm Systems and Batteries	11	1400	\$1,400.00	
Inspections and Testing				Subtotal A:	\$1,400.0
Subtotal B:	Inspections and Testing U	nits (Quarterly)	Required Inspections and	Required Inspections and	
Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems Units Units (Semi-Annual) Unit Price Per Semi Annual For All Required Inspections and Testing Units (Semi-Annual) Unit Price Per Semi Annual For All Required Inspections and Testing Units (Fire Protection Systems Comparison Systems and Fire Protection Systems spatial Systems and Fire Extinguishers Unit of Measure Subtotal C: Repairs Hourly Rates Unit of Measure Estimated Annual Hours Unit Price Estinguishers Unit of Measure Estimated Annual Hours Unit Price Estinguishers Unit Price Unit Price Estinguishers Unit Price Unit Price Estinguishers Estinguishers Estinguishers Unit Price Estinguishers Estinguishers Estinguishers Estinguishers Estinguishers Estinguishers Unit Price Estinguishers Unit Price Estinguishers Estinguishers Unit Price Esting					
Inspections and Testing Units Units (Semi-Annual) Units (Semi-Annual) Unit Price Per Semi Annual For All Required Inspections and Testing Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Estinguishers Estinguishers Estinguishers Unit of Measure Repairs Hourly Rates Unit of Measure Regular Time Labor Rate Hour Setimated Annual Hours Regular Time Labor Rate Hour Setimated Annual Hours Note of the State of	prinkler Systems, Fire Hydrants, Fire	4	700	\$2,800.00	
Inspections and Testing Units Units (Semi-Annual) Annual For All Required Inspections and Testing Fire Protection Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers Subtotal C:				Subtotal B:	\$2,800.0
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers Subtotal C:	Inspections and Testing	Units	Units (Semi-Annual)	Annual For All Required	Annual Price For All Required Inspections and Testing
Repairs Hourly Rates Unit of Measure Estimated Annual Hours Est	Protections Systems including - Kitchen xed Fire Suppression Systems and Fire	Month	2	\$650.00	\$1,300.00
Regular Time Labor Rate Hour 24 \$150.00 Overtime Labor Rate Hour 8 \$200.00 Holiday Time Labor Rate Hour 4 \$550.00 Emergency Time Labor Rate Hour 4 \$550.00 Emergency Time Labor Rate Hour 4 \$550.00 Further Labor Rate Hour 4 \$550.00 Subtotal D: Parts Quote Estimated Parts Cost ** Markup Percentage Exparts \$2,000.00 Subtotal E: Fire Door Inspection Units (Annual) Estimated Number of Fire Doors * Unit Price Per Annual For All Required Inspections and Testing Fire Door Inspection Inspection Estimated Number of Backflow Preventer Devices Inspection/Testing Subtotal G: FACILITY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):				Subtotal C:	\$1,300.0
Overtime Labor Rate Hour 8 \$200.00 Holiday Time Labor Rate Hour 4 \$550.00 Emergency Time Labor Rate Hour 4 \$550.00 Subtotal D: Parts Quote Estimated Parts Cost ** Markup Percentage Exparts \$2,000.00 Subtotal E: Fire Door Inspection Units (Annual) Estimated Number of Fire Doors * Unit Price Per Annual For All Required Inspections and Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflo	Repairs Hourly Rates U	nit of Measure		Unit Price	Extended Amount
Holiday Time Labor Rate Hour 4 \$50.00 Emergency Time Labor Rate Hour 4 \$55.00 Subtotal D: Parts Quote Estimated Parts Cost ** Markup Percentage Expans \$2,000.00 \$35.00% Fire Door Inspection Units (Annual) Estimated Number of Fire Doors * Unit Price Per Annual For All Required Inspections and Testing Fire Door Inspection 1 10 \$40.00 \$ Subtotal F: Backflow Preventer Devices Inspection/Testing Subtotal G: FACILITY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):	Regular Time Labor Rate	Hour	24	\$150.00	\$3,600.0
Emergency Time Labor Rate Hour 4 \$\$50.00 Subtotal D: Parts Quote Estimated Parts Cost ** Markup Percentage Experts \$2,000.00 \$35.00% Subtotal E: Fire Door Inspection Units (Annual) Estimated Number of Fire Doors * All Required Inspections and Testing Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devic					\$1,600.0
Parts Quote Estimated Parts Cost ** Markup Percentage Exparts \$2,000.00 35.00% Subtotal E: Fire Door Inspection Units (Annual) Estimated Number of Fire Doors * All Required Inspections and Testing Required Inspection I 1 10 S40.00 Backflow Preventer Devices Inspection/Testing Backflow Preventer					\$200.0
Parts Quote Stimated Parts Cost ** Markup Percentage S2,000.00 35.00% Subtotal E:	Emergency Time Labor Rate	Hour	4		\$200.0 \$5,600.0
Fire Door Inspection Units (Annual) Estimated Number of Fire Doors * Unit Price Per Annual For All Required Inspections and Testing Backflow Preventer Devices Inspection/Testing FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):	P. v. O. v.	Fatimata	d Posts Cost **		
Fire Door Inspection Units (Annual) Estimated Number of Fire Door Inspections and Testing Fire Door Inspection Fire Door Inspection I 10 Subtotal F: Subtotal F: Backflow Preventer Devices Inspection/Testing FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):					Extended Amount \$2,700.0
Fire Door Inspection I 10 Subtotal F: Subtotal F: Backflow Preventer Devices Inspection/Testing FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):					\$2,700.0
Fire Door Inspection I 10 S40.00 Subtotal F: Backflow Preventer Devices Inspection/Testing FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):			Estimated Number of Fire		Annual Price For All
Fire Door Inspection 1 10 \$40.00 Subtotal F: Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):	Fire Door Inspection	Units (Annual)	Doors *		Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):			10	610.00	\$400.00
Backflow Preventer Devices Inspection/Testing Units (Annual) Backflow Preventer Devices Units (Annual) Backflow Preventer Devices Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):	Fire Door Inspection		1 10	340,00	\$400.00
Backflow Preventer Devices Inspection/Testing Units (Annual) Backflow Preventer Devices * All Required Inspections and Testing Backflow Preventer Devices * Backflow Preventer Devices * Backflow Preventer Devices * Backflow Preventer Devices 1				Subtotal F:	\$400.0
Inspection/Testing		Units (Annual)	Backflow Preventer	All Required Inspections	Annual Price For All Required Inspections and Testing
Inspection/Testing Subtotal G: FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):					
FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):		1	5	\$1.00	\$5.00
				Subtotal G:	\$5.0
Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)		FACILTY	BID AMOUNT (by adding sub	totals A, B, C, D, E, F and G):	\$14,205.0
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.				etc	
The samples of the same that the same that the same of product the same from eventoring to the same that the same	The Complete Common, 1 no-Ente (Mathis, Edi	as ofsteins, Hon			

Brewer & Company of WV, Inc. 3601 7th Ave., Charleston, WV 25387 Name: Address: 304-744-5314 Phone No. Fax No.: Email Address. 304-744-4899 doug.meeks@brewerfire. Authorized Signature

* Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Huttonsville Correctional Center and Jail, US Route 250 South, Huttonsville, WV 26273

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$4,000.00	\$4,000.00

Subtotal A: 4,000.00

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems		LINE STREET	
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$1,000.00	\$4,000.00

4,000.00 Subtotal B:

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	1,000.00	\$2,000.00

Subtotal C: \$2,000.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours *	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$150.00	\$3,600.00
Overtime Labor Rate	Hour	8	\$175.00	\$1,400.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

\$5,400.00 Subtotal D:

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	
Fire Door Inspection				
Fire Door Inspection	1	10	40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	1.00	\$5.00

Subtotal G: \$5.00

\$18,505.00 FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)

For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc. Yes

Name:	Brewer & Company of WV, Inc.	
Address:	3601 7th Ave., Charleston, WV 25387	
Phone No.:	304-744-5314	
Fax No.:	304-744-4899	
Email Address:	doug.meeks@brewerfire.	1.33
Authorized Signature		100

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

\$16,605.00

ARFQ 0608 DCR2500000077 - Fire Alarm and Fire Protection Contract

Facility Bid Amount Pricing Page

Unit Price Per Year For All Required Inspections and Testing	Units (Annual)	Inspections and Testing
		e Alarm Systems
\$1,600.00	1	Fire Alarm Systems and Batteries
I		
Quarterly Price For All Required Inspections and Testing	Units (Quarterly)	Inspections and Testing
\$1,200.00	4	e Protection Systems Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems
Units (Semi-Annual)	Units	Inspections and Testing
2	Month	e Protection Systems Protections Systems including - Kitchen ixed Fire Suppression Systems and Fire Extinguishers
]		
Estimated Annual Hours	Unit of Measure	Repairs Hourly Rates
24	Hour	Regular Time Labor Rate
8	Hour	Overtime Labor Rate
		Holiday Time Labor Rate Emergency Time Labor Rate
Parts Cost **	Fetimated	Parts Quote
		Parts
Estimated Number of Fire Doors *	Units (Annual)	Fire Door Inspection
		Door Inspection
10	1	Fire Door Inspection
5.0 [
Estimated Number of Backflow Preventer Devices *	Units (Annual)	Backflow Preventer Devices Inspection/Testing
		kflow Preventer Devices
5	1	Backflow Preventer Devices Inspection/Testing
r All Iss and	All Required Inspectand Testing \$1,600.00 Quarterly Price For Required Inspection Testing \$1,200.00 Units (Semi-Annual Figure 1	Units (Annual) Units (Quarterly) Units (Quarterly) Units (Quarterly) Units (Semi-Annual) Units (Semi-Annual) Unit of Measure Hour Hour Hour Hour Hour Hour Units (Annual) Estimated Number of Doors * Units (Annual) Units (Annual) Units (Annual) Estimated Number of Doors * Units (Annual) Estimated Number of Doors *

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc. Yes

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):

Bidder/Vendor Information: Brewer & Company of WV, Inc. 3601 7th Ave., Charleston, WV 25387 Name: Address 304-744-5314 Phone No.: Der m Fax No.: Email Address: 304-744-4899 doug.meeks@brewerfire. Authorized Signature

^{*} Quantities are estimated for bid evaluation purposes only.

^{**} Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Mount Olive Correctional Complex and Jail, 1 Mountainside Way, Mount Olive, WV 25185

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$3,000.00	\$3,000.00

Subtotal A: \$3,000.00

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems	114 9 101		
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$1,250.00	\$5,000.00

Subtotal B: \$5,000.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,250.00	\$2,500.00

Subtotal C: \$2,500.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

Subtotal D: \$4,600.00

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection				
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5,00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$18,205.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc. Yes

Name:	Brewer & Company of WV, Inc.	
Address:	3601 7th Ave., Charleston, WV 25387	
Phone No.:	304-744-5314	
Fax No.:	304-744-4899	
Email Address:	doug.meeks@brewerfire.	> /
Authorized Signature	N-W	7

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Parkersburg Correctional Center and Jail, 225 Holiday Hills Drive, Parkersburg, WV 26104

	Annual Price For All Required Inspections and Testing	Unit Price Per Year For All Required Inspections and Testing	Units (Annual)	Inspections and Testing
				Fire Alarm Systems
	\$1,250.00	\$1,250.00	1	Fire Alarm Systems and Batteries
\$1,250.0	Subtotal A:	1		
	Annual Price For All Required Inspections and Testing	Quarterly Price For All Required Inspections and Testing	Units (Quarterly)	Inspections and Testing
1				Fire Protection Systems
1		\$400.00	4	Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire
	\$1,600.00	3400.00		Pumps, and Stand Pipe Systems
\$1,600.0	\$1,600.00 Subtotal B:	3400.00		Pumps, and Stand Pipe Systems
Annual Price For All Required Inspections and	Subtotal B: Unit Price Per Semi Annual For All Required	Units (Semi-Annual)	Units	Pumps, and Stand Pipe Systems Inspections and Testing
Annual Price For All	Subtotal B: Unit Price Per Semi			
Annual Price For All Required Inspections and	Subtotal B: Unit Price Per Semi Annual For All Required			Inspections and Testing
Annual Price For All Required Inspections and Testing	Subtotal B: Unit Price Per Semi Annual For All Required Inspections and Testing	Units (Semi-Annual)	Units	Inspections and Testing Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire
Annual Price For All Required Inspections and Testing \$1,000.00	Subtotal B: Unit Price Per Semi Annual For All Required Inspections and Testing \$500.00	Units (Semi-Annual)	Units	Inspections and Testing Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire
Annual Price For All Required Inspections and Testing \$1,000.00 \$1,000.00 Extended Amount	Subtotal B: Unit Price Per Semi Annual For All Required Inspections and Testing \$500.00 Subtotal C:	Units (Semi-Annual) 2 Estimated Annual Hours	Units	Inspections and Testing Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers
Annual Price For All Required Inspections and Testing \$1,000.00 \$1,000.00 Extended Amount	Subtotal B: Unit Price Per Semi Annual For All Required Inspections and Testing \$500.00 Subtotal C: Unit Price	Units (Semi-Annual) 2 Estimated Annual Hours	Units Month Unit of Measure	Inspections and Testing Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers Repairs Hourly Rates
Annual Price For All Required Inspections and Testing \$1,000.00 \$1,000.00 Extended Amount \$3,000.0 \$1,200.0	Subtotal B: Unit Price Per Semi Annual For All Required Inspections and Testing \$500.00 Subtotal C: Unit Price \$125.00	Units (Semi-Annual) 2 Estimated Annual Hours	Units Month Unit of Measure Hour	Inspections and Testing Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers Repairs Hourly Rates Regular Time Labor Rate

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection				
Fire Door Inspection	I	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

Yes

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$11,555.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc

Bidder/Vendor Information:			
Name:	Brewer & Company of WV, Inc.		
Address:	3601 7th Ave., Charleston, WV 25387		-
Phone No.:	304-744-5314		
Fax No.:	304-744-4899		
Email Address:	doug.meeks@brewerfire.	7 / 3.3	
Authorized Signature		MALL	1

^{*} Quantities are estimated for bid evaluation purposes only.

^{**} Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$1,500.00	\$1,500.00	
The roam bysems and batteries		41,500.00		
			Subtotal A:	\$1,500.0
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$1,000.00	\$4,000.00	
			Subtotal B:	\$4,000.0
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000.00	\$2,000.00
Extinguishers			Subtotal C:	\$2,000.0
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.0
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.0
Holiday Time Labor Rate Emergency Time Labor Rate	Hour	4 4	\$50.00 \$50.00	\$200.0 \$200.0
Parts Quote	Estimate	d Parts Cost **	Markup Percentage	Extended Markup Percentage
Parts	S:	2,000.00	35.00%	\$2,700 0
			Subtotal E:	\$2,700.0
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection Fire Door Inspection	1	10	\$40,00	\$400.00
	9.3		Subtotal F:	\$400.0
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00
Herbert of Kreit Hillian			Subtotal G:	\$5.0
	FACILTY	BID AMOUNT (by adding su	btotals A, B, C, D, E, F and G):	\$15,205.0
Vendor can do programing on multiple fire ala			Yes	
	ms Edwards Systems Ha	nevwell Johnson Controls Potter		
For example, Simplex/Grinnell, Fire-Lite Alar	ms, Edwards Systems, Ho	neywell, Johnson Controls, Potter	, etc	
For example, Simplex/Grinnell, Fire-Lite Alar Bidder/Vendor Information:	ms, Edwards Systems, Ho		r, etc.	
For example, Simplex/Grinnell, Fire-Lite Alar Bidder/Vendor Information: Name:		V, Inc.	, etc.	A
For example, Simplex/Grinnell, Fire-Lite Alar Bidder/Vendor Information: Name: Address:	Brewer & Company of W	V, Inc.	, etc.	Λ

NOTES:

Fax No.: Email Address: Authorized Signature

304-744-4899

doug.meeks@brewerfire.

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$2,000.00	\$2,000.00	
	7 - 7 - Table 1		61	62.000.00
			Subtotal A:	\$2,000 00
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$700.00	\$2,800.00	1,1
	15245 0		Subtotal B:	\$2,800.00
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000.00	\$2,000.00
		175	Subtotal C:	\$2,000.00
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate Holiday Time Labor Rate	Hour	8 4	\$150.00	\$1,200.00
Emergency Time Labor Rate	Hour Hour	4 4	\$50.00 \$50.00	\$200.00 \$200.00
				61.000
			Subtotal D:	\$4,600.00
Parts Quote		d Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2	2,000.00	35.00%	\$2,700.00
			Subtotal E:	\$2,700.00
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
ire Door Inspection		10		
Fire Door Inspection	1	10	\$40.00	\$400.00
			- Subtotal F:	\$400.00
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00
			Subtotal G:	\$5.00
	FACILTY	BID AMOUNT (by adding sub	totals A, B, C, D, E, F and G):	\$14,505.00
	rm systems listed below: (Yes / No)	Yes	
	ns, Edwards Systems, Hone			
or example, Simplex/Grinnell, Fire-Lite Alarr	ns, Edwards Systems, Hone			
or example, Simplex/Grinnell, Fire-Lite Alarr bidder/Vendor Information:	O TO VICENTE	/. Inc		
or example, Simplex/Grinnell, Fire-Lite Alarr Bidder/Vendor Information: lame:	Brewer & Company of WV 3601 7th Ave., Charleston,			
or example, Simplex/Grinnell, Fire-Lite Alarr Bidder/Vendor Information: lame: ddress:	Brewer & Company of WV 3601 7th Ave., Charleston,			
fendor can do programing on multiple fire ala or example, Simplex/Grinnell, Fire-Lite Alarn Bidder/Vendor Information: lame: ddress: thone No.: ax No.:	Brewer & Company of WV			
or example, Simplex/Grinnell, Fire-Lite Alarr idder/Vendor Information: lame: ddress: hone No.:	Brewer & Company of WV 3601 7th Ave., Charleston, 304-744-5314			12. ml

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Salem Correctional Center and Jail, 7 Industrial Blvd, Industrial, WV 26426

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems				
Fire Alarm Systems and Batteries	1	\$1,000.00	\$1,000.00	

Subtotal A: \$1,000.00

Inspections and Testing	Units (Quarterly) Quarterly Price For All Required Inspections an Testing		[4] [1] [1] [1] [1의	
Fire Protection Systems	Y			
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$1,000.00	\$4,000.00	

Subtotal B: \$4,000.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$900.00	\$1,800.00

Subtotal C: \$1,800.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

Subtotal D: \$4,600.00

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection				
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$14,505.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)

Yes
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.

Name:	Brewer & Company of WV, Inc.		
Address:	3601 7th Ave., Charleston, WV 25387		1
Phone No.:	304-744-5314	 	11
Fax No.:	304-744-4899		1/
Email Address:	doug.meeks@brewerfire.	120	V
Authorized Signature		14.1.11	1

^{*} Quantities are estimated for bid evaluation purposes only

^{**} Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Central Regional Jail and Correctional Facility, 1255 Dver Hill Road, Sutton, WV 26601

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$1,000.00	\$1,000.00

Subtotal A: \$1,000.00

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems			
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$500.00	\$2,000.00

Subtotal B: \$2,000.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$400.00	\$800.00

Subtotal C: \$800.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

Subtotal D: \$4,600.00

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection				
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$11,505.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)

Yes
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.

Bidder/Vendor Information:		
Name:	Brewer & Company of WV, Inc.	
Address:	3601 7th Ave., Charleston, WV 25387	A
Phone No.:	304-744-5314	
Fax No.:	304-744-4899	
Email Address:	doug.meeks@brewerfire.	1 1 3 7 1
Authorized Signature		M. M.

^{*} Quantities are estimated for bid evaluation purposes only.

^{**} Estimated cost for bid evaluation purposes only.

\$1,500.00

ARFQ 0608 DCR2500000077 - Fire Alarm and Fire Protection Contract

Facility Bid Amount Pricing Page

Eastern Regional Jail and Correctional Facility - Building No. 1, 94 Grapevine Road, Martinsburg, WV 25405

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems	A 1-5		
Fire Alarm Systems and Batteries	1	\$1,500.00	\$1,500.00

Inspections and Testing
Units (Quarterly)

Quarterly Price For All Required Inspections and Testing

Fire Protection Systems
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems

Quarterly Price For All Required Inspections and Testing

Testing

Stone On Stand Price For All Required Inspections and Testing

Testing

Stand Price For All Required Inspections and Testing

Testing

Stand Price For All Required Inspections and Testing

Testing

Subtotal B: \$2,000.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000.00	\$2,000.00

Subtotal C: \$2,000.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

Subtotal D: \$4,600.00

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection			1	
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$13,205.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.

Yes

 Bidder/Vendor Information:

 Name:
 Brewer & Company of WV, Inc.

 Address:
 3601 7th Ave., Charleston, WV 25387

 Phone No.:
 304-744-5314

 Fax No.:
 304-744-4899

 Email Address:
 doug.meeks@brewerfire.

 Authorized Signature
 Authorized Signature

^{*} Quantities are estimated for bid evaluation purposes only.

^{**} Estimated cost for bid evaluation purposes only.

Facility Bid Amount Pricing Page

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$1,500.00	\$1,500.00	
	ALL LE VANDO		Subtotal A:	\$1,500.0
			Subtotal A.	31,300.0
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire	4	\$500.00	\$2,000.00	
Pumps, and Stand Pipe Systems				
			Subtotal B:	\$2,000.0
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
ire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000.00	\$2,000.00
			Subtotal C:	\$2,000.0
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.0
Overtime Labor Rate Holiday Time Labor Rate	Hour Hour	8 4	\$150.00 \$50.00	\$1,200.0 \$200.0
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.9
			c. L I D.	\$4,600
			Subtotal D:	\$4,600.6
Parts Quote		d Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2	2,000.00	35.00%	\$2,700.0
			Subtotal E:	\$2,700.0
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection		10	¢40.00	\$400.00
Fire Door Inspection	1	10	\$40.00	\$400.00
			Subtotal F:	\$400.6
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00
			Subtotal G:	\$5.
```		),		
and the second second	FACILTY	BID AMOUNT (by adding sub	totals A, B, C, D, E, F and G):	\$13,205.
			Yes etc.	
Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm	is, Edwards Systems, Hom	All the Bill Brown of the		
For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information:		/ Inc		
For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:  Name:	Brewer & Company of WV			
For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:  Name:  Address:	Brewer & Company of WV 3601 7th Ave., Charleston,			Λ
For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:  Name: Address: Phone No.:	Brewer & Company of WV 3601 7th Ave., Charleston, 304-744-5314			Λ
For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:  Name:  Address:  Phone No.:  Fax No.:	Brewer & Company of WV 3601 7th Ave., Charleston,		1 1 2 -	0

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

#### Northern Regional Jail and Correctional Facility, 112 Northern Regional Correctional Drive, Moundsville, WV 26041

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$1,500.00	\$1,500.00

Subtotal A:

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems	and the second of the second o		
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$500.00	\$2,000.00

Subtotal B: \$2,000.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000.00	\$2,000.00

Subtotal C: \$2,000.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

Subtotal D: \$4,600.00

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

\$2,700.00 Subtotal E:

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection	The state of the same of the s	+ - 1-		
Fire Door Inspection	1	10	\$40.00	\$400.00

\$400.00 Subtotal F:

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$13,205.00

Yes

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc

Bidder/Vendor Information: Name: Brewer & Company of WV, Inc. 3601 7th Ave., Charleston, WV 25387 Address: 304-744-5314 Phone No.: Fax No.: Email Address: 304-744-4899 doug.meeks@brewerfire. Authorized Signature

^{*} Quantities are estimated for bid evaluation purposes only.

^{**} Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

#### North Central Regional Jail and Correctional Facility, #1 Lois Lane, Greenwood, WV 26415

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$1,000.00	\$1,000.00

Subtotal A: \$1,000.00

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems			
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$500.00	\$2,000.00

\$2,000.00 Subtotal B:

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$750.00	\$1,500.00

Subtotal C: \$1,500.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

Subtotal D: \$4,600.00

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	
Fire Door Inspection				
Fire Door Inspection	1	10	\$40.00	\$400.00

\$400.00 Subtotal F:

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing		The state of the s		
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$12,205.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)

For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc. Yes

Bidder/Vendor Information:				
Name:	Brewer & Company of WV, Inc.			
Address:	3601 7th Ave., Charleston, WV 25387		21 42	
Phone No.:	304-744-5314			
Fax No.:	304-744-4899	-		
Email Address:	doug.meeks@brewerfire.		1 2. 54	. /
Authorized Signature			W	9

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$1,000.00	\$1,000.00	
	1		Subtotal A:	\$1,000.0
		Quarterly Price For All	Annual Price For All	
Inspections and Testing	Units (Quarterly)	Required Inspections and Testing	Required Inspections and Testing	
Fire Protection Systems  Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$500.00	\$2,000.00	
		1025 21 1	Subtotal B:	\$2,000.0
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000.00	\$2,000.00
			Subtotal C:	\$2,000.0
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$150.00	\$3,600.
Overtime Labor Rate	Hour	8	\$175.00	\$1,400.
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.0
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.
			Subtotal D:	\$5,400.
Parts Quote Parts		Parts Cost ** ,000.00	Markup Percentage 35.00%	Extended Amount \$2,700.
rais	32	,000.00	Subtotal E:	\$2,700.
				10: E 10
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection Fire Door Inspection	1	10	\$40.00	\$400.00
	84 34 0		Subtotal F:	\$400.0
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing	a a 4.15 a			
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00
			Subtotal G:	\$5.0
	FACILTY	BID AMOUNT (by adding sub	totals A, B, C, D, E, F and G):	\$13,505.0
Vendor can do programing on multiple fire alarn For example, Simplex/Grinnell, Fire-Lite Alarm			Yes etc.	
	PRINCIPLE STATE OF THE STATE OF	ESTATE WAS ALLESS AND ADDRESS OF THE PARTY O		
Bidder/Vendor Information:				

304-744-5314 Phone No.: Fax No.: Email Address: Authorized Signature 304-744-4899 doug.meeks@brewerfire.

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

\$750.00

#### ARFQ 0608 DCR2500000077 - Fire Alarm and Fire Protection Contract

#### Facility Bid Amount Pricing Page

#### South Central Regional Jail and Correctional Facility, 1001 Centre Way, Charleston, WV 25309

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$750.00	\$750.00

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems			
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$350.00	\$1,400.00

Subtotal B: \$1,400.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$500.00	\$1,000.00

Subtotal C: \$1,000.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

\$4,600.00 Subtotal D:

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection	to be a second of the second			
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$10,855.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc. Yes

Bidder/Vendor Information:				
Name:	Brewer & Company of WV, Inc.			
Address:	3601 7th Ave., Charleston, WV 25387			1
Phone No.:	304-744-5314			//
Fax No.:	304-744-4899		1-	
Email Address:	doug.meeks@brewerfire.	1	102-	
Authorized Signature			NAIN	

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

\$800.00

#### ARFQ 0608 DCR2500000077 - Fire Alarm and Fire Protection Contract

#### Facility Bid Amount Pricing Page

#### South Regional Jail and Correctional Facility, 1200 Airport Road, Beaver, WV 25813

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$800.00	\$800.00

Quarterly Price For All Annual Price For All Units (Quarterly) Inspections and Testing Required Inspections and Required Inspections and Testing Testing Fire Protection Systems Fire Protections Systems including -Sprinkler Systems, Fire Hydrants, Fire 4 \$400.00 \$1,600.00 Pumps, and Stand Pipe Systems

> Subtotal B: \$1,600.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems	10.35	The grant of the second		
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$750.00	\$1,500.00

\$1,500.00 Subtotal C:

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

Subtotal D: \$4,600.00

Γ	Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
	Parts	\$2,000.00	35.00%	\$2,700.00

\$2,700.00 Subtotal E:

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection	The second of th			
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing	To the second			
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5,00

\$5.00 Subtotal G:

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$11,605.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc

Yes Bidder/Vendor Information:

Name: Brewer & Company of WV, Inc. 3601 7th Ave., Charleston, WV 25387 Address: Phone No. 304-744-5314 Fax No.: 304-744-4899 Email Address: doug.meeks@brewerfire. Authorized Signature

* Quantities are estimated for bid evaluation purposes only

NOTES:

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

Inspections and Testing	Units (Quarterly)	Required Inspections and Testing	Required Inspections and Testing	
inspections and resting	Omis (Quarterly)	Testing	Testing	
Fire Protection Systems Fire Protections Systems including -				
Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$400.00	\$1,600.00	
			Subtotal B:	\$1,600
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections as Testing
Fire Protection Systems	300000000000000000000000000000000000000			
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$750.00	\$1,500.00
			Subtotal C:	\$1,500
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200
Holiday Time Labor Rate	Hour Hour	4	\$50.00 \$50.00	\$200 \$200
Emergency Time Labor Rate		1011	Subtotal D:	\$4,600
Parts Quote	Estimated	I Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2	,000.00	35.00%	\$2,700
			Subtotal E:	\$2,700
		Entire and Number of Eliza	Unit Price Per Annual For	Annual Price For All
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	All Required Inspections and Testing	Required Inspections a Testing
Fire Door Inspection Fire Door Inspection	1	10	\$40.00	\$400.00
The Bool hispection	THE RESERVE TO SERVE THE S	an and o	\$40.00	3400.00
	Sel che Bach		Subtotal F:	\$400
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections a Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00
			Subtotal G:	S
	FACILTY	BID AMOUNT (by adding sub	totals A, B, C, D, E, F and G):	\$11,80

3601 7th Ave., Charleston, WV 25387 Address: JAN. m Phone No.: 304-744-5314 Fax No.: Email Address: 304-744-4899 doug.meeks@brewerfire. Authorized Signature

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

		Unit Price Per Year For	Annual Price For All	
Inspections and Testing	Units (Annual)	All Required Inspections and Testing	Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$1,000.00	\$1,000.00	
The Alain Systems and Datteries		31,000.00	31,000.00	
			Subtotal A:	\$1,000.0
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems				
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$500.00	\$2,000.00	
		1117	Subtotal B:	\$2,000.0
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$750.00	\$1,500.00
			Subtotal C:	\$1,500.0
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.0
Overtime Labor Rate	Hour	8	\$150,00	\$1,200.0
Holiday Time Labor Rate	Hour	4 4	\$50.00 \$50.00	\$200.0 \$200.0
Emergency Time Labor Rate	Hour	1		\$4,600.0
e i and a me	<u> Linerii i</u>	A 100.00	Subtotal D:	34,000
Parts Quote Parts		Parts Cost ** 000.00	Markup Percentage 35.00%	Extended Amount \$2,700.0
		W 1 1	Subtotal E:	\$2,700.0
		Estimated Number of Fire	Unit Price Per Annual For	Annual Price For All
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	All Required Inspections and Testing	Required Inspections and Testing
Fire Door Inspection		Doors *	and Testing	Testing
	Units (Annual)			
Fire Door Inspection		Doors *	and Testing	Testing \$400.00
Fire Door Inspection		Doors *	and Testing \$40.00	S400.00 S400.0 Annual Price For All
Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing	Total Control of	Doors *  10  Estimated Number of Backflow Preventer	s40.00 Subtotal F: Unit Price Per Annual For All Required Inspections	\$400.00  \$400.00  Annual Price For All Required Inspections and
Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices	Total Control of	Doors *  10  Estimated Number of Backflow Preventer	s40.00 Subtotal F: Unit Price Per Annual For All Required Inspections	\$400.00 \$400.0 Annual Price For All Required Inspections and
Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Doors *  10  Estimated Number of Backflow Preventer Devices *	\$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing	S400.00  S400.00  Annual Price For All Required Inspections and Testing
Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Doors *  10  Estimated Number of Backflow Preventer Devices *	s40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00	S400.00 S400.00 Annual Price For All Required Inspections and Testing \$5.00
Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)  1  FACILTY In systems listed below: (Yannual)	Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  totals A. B. C. D. E. F and G):  Yes	Testing  \$400.00  \$400.00  Annual Price For All Required Inspections and Testing  \$5.00  \$5.00
Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar  For example, Simplex/Grinnell, Fire-Lite Alarm	Units (Annual)  1  FACILTY In systems listed below: (Yannual)	Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  totals A. B. C. D. E. F and G):  Yes	Testing  \$400.00  \$400.00  Annual Price For All Required Inspections and Testing  \$5.00  \$5.00
Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:	Units (Annual)  1  FACILTY In systems listed below: (Yannual)	Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub Yes / No) ywell, Johnson Controls, Potter,	and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  totals A. B. C. D. E. F and G):  Yes	Testing \$400.00 \$400.  Annual Price For All Required Inspections an Testing \$5.00 \$5.00

Phone No.: Fax No.: Email Address: Authorized Signature

NOTES:

304-744-5314 304-744-4899 doug.meeks@brewerfire.

^{*} Quantities are estimated for bid evaluation purposes only ** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

Western Region				
Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems	1			
Fire Alarm Systems and Batteries	I	\$750.00	\$750.00	
			Subtotal A:	\$750.0
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems  Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$400.00	\$1,600.00	
			Subtotal B:	\$1,600.0
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
ire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$750.00	\$1,500.00
			Subtotal C:	\$1,500.0
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.0
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.0
Holiday Time Labor Rate Emergency Time Labor Rate	Hour	4 4	\$50.00 \$50.00	\$200.0 \$200.0
			Subtotal D:	\$4,600.0
Parts Quote Parts		Parts Cost ** 000.00	Markup Percentage 35.00%	Extended Amount \$2,700.0
Į.			Subtotal E:	\$2,700.0
	<u> </u>			
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
	1	10	\$40.00	\$400.00
Fire Door Inspection Fire Door Inspection	1	10	\$40.00	\$400.00
	1	10	\$40.00 Subtotal F:	
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing	THE PERSON NAMED IN	Estimated Number of Backflow Preventer Devices *		\$400.0 Annual Price For All
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing		Estimated Number of Backflow Preventer	Subtotal F: Unit Price Per Annual For All Required Inspections	\$400.0  Annual Price For All Required Inspections and
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices		Estimated Number of Backflow Preventer	Subtotal F: Unit Price Per Annual For All Required Inspections	\$400.0  Annual Price For All Required Inspections and
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing	S400.0  Annual Price For All  Required Inspections and  Testing  \$5.00
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00	Annual Price For All Required Inspections and Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing	Units (Annual)  1  FACILTY I	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	Annual Price For All Required Inspections and Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing	Units (Annual)  1  FACILTY I	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	Annual Price For All Required Inspections and Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar for example, Simplex/Grinnell, Fire-Lite Alarn  Bidder/Vendor Information:	Units (Annual)  1  FACILTY I  rm systems listed below: (Yas, Edwards Systems, Hone	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub fes / No) ywell, Johnson Controls, Potter,	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	Annual Price For All Required Inspections and Testing \$5.00
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Bac	Units (Annual)  1  FACILTY I	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub (es / No) ywell, Johnson Controls, Potter,	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	Annual Price For All Required Inspections and Testing \$5.00
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alar for example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name: Address:	Units (Annual)  FACILTY I  rm systems listed below: (Yas, Edwards Systems, Hone  Brewer & Company of WV 3601 7th Ave., Charleston,	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub (es / No) ywell, Johnson Controls, Potter,	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	Annual Price For All Required Inspections and Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name: Name: Naddress:	Units (Annual)  FACILTY I  rm systems listed below: (Yas, Edwards Systems, Hone  Brewer & Company of WV 3601 7th Ave., Charleston, 304-744-5314	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub (es / No) ywell, Johnson Controls, Potter,	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	S400.0  Annual Price For All  Required Inspections and  Testing
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Backflow Preventer Devices Backflow Preventer Devices Backflow Preventer Devices Backfl	Units (Annual)  FACILTY I  rm systems listed below: (Yas, Edwards Systems, Hone  Brewer & Company of WV 3601 7th Ave., Charleston,	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub (es / No) ywell, Johnson Controls, Potter,	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing \$1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	Annual Price For All Required Inspections ar Testing \$5.00

Authorized Signature NOTES:

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

# Facility Bid Amount Pricing Page

<u>I</u>				
Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems		6000.00	6000.00	
Fire Alarm Systems and Batteries	1	\$800.00	\$800.00	
		I	Subtotal A:	\$800.0
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems  Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$300.00	\$1,200.00	
			Subtotal B:	\$1,200.
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$750.00	\$1,500.00
EABIRManna 3			Subtotal C:	\$1,500.
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000
Overtime Labor Rate	Hour	8	\$125.00	\$1,000
Holiday Time Labor Rate Emergency Time Labor Rate	Hour Hour	4 4	\$50.00 \$50.00	\$200 \$200
Parts Quote		d Parts Cost **	Markup Percentage	Extended Amount
Parts	34	,000.00	35.00% Subtotal E:	\$2,700. \$2,700.
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections an Testing
Fire Door Inspection Fire Door Inspection	1	10	\$40.00	\$400.00
The Door Hapochon		10	340.00	3100.00
		and the fact of the same of th		
	- A		Subtotal F:	\$400
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing		Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections an Testing
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices		Backflow Preventer	Unit Price Per Annual For All Required Inspections	Annual Price For All Required Inspections ar
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections at Testing
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing \$1.00 Subtotal G:	Annual Price For All Required Inspections at Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing	Units (Annual)  1  FACILTY rm systems listed below: (Y	Backflow Preventer Devices *  5  BID AMOUNT (by adding subsequence)	Unit Price Per Annual For All Required Inspections and Testing \$1.00 Subtotal G: totals A, B, C, D, E, F and G):	Annual Price For All Required Inspections a Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar	Units (Annual)  1  FACILTY rm systems listed below: (Y	Backflow Preventer Devices *  5  BID AMOUNT (by adding subsequence)	Unit Price Per Annual For All Required Inspections and Testing \$1.00 Subtotal G: totals A, B, C, D, E, F and G):	Annual Price For All Required Inspections at Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm	Units (Annual)  1  FACILTY rm systems listed below: (Value of the content of the	Backflow Preventer Devices *  5  BID AMOUNT (by adding subsequence) Yes / No) 2ywell, Johnson Controls, Potter, or	Unit Price Per Annual For All Required Inspections and Testing \$1.00 Subtotal G: totals A, B, C, D, E, F and G):	Annual Price For All Required Inspections ar Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name:	Units (Annual)  1  FACILTY rm systems listed below: (Y	Backflow Preventer Devices *  5  BID AMOUNT (by adding subiters / No) Eywell, Johnson Controls, Potter, of /, Inc.	Unit Price Per Annual For All Required Inspections and Testing \$1.00 Subtotal G: totals A, B, C, D, E, F and G):	Annual Price For All Required Inspections an Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name:	Units (Annual)  I  FACILTY  rm systems listed below: (Yans, Edwards Systems, Hone  Brewer & Company of WV 3601 7th Ave., Charleston,	Backflow Preventer Devices *  5  BID AMOUNT (by adding subiters / No) Eywell, Johnson Controls, Potter, of /, Inc.	Unit Price Per Annual For All Required Inspections and Testing \$1.00 Subtotal G: totals A, B, C, D, E, F and G):	Annual Price For All Required Inspections an Testing \$5.00
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm Bidder/Vendor Information: Name: Address:	Units (Annual)  FACILTY  rm systems listed below: (1) as, Edwards Systems, Hone  Brewer & Company of WV	Backflow Preventer Devices *  5  BID AMOUNT (by adding subiters / No) Eywell, Johnson Controls, Potter, of /, Inc.	Unit Price Per Annual For All Required Inspections and Testing \$1.00 Subtotal G: totals A, B, C, D, E, F and G):	Annual Price For All Required Inspections ar Testing \$5.00

NOTES:

Email Address:

Authorized Signature

doug.meeks@brewerfire.

^{*} Quantities are estimated for bid evaluation purposes only.

^{**} Estimated cost for bid evaluation purposes only.

\$500.00

## ARFQ 0608 DCR2500000077 - Fire Alarm and Fire Protection Contract

#### Facility Bid Amount Pricing Page

#### Gene Spadaro Juvenile Center 106 Martin Drive, Mt. Hope, WV 25880

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$500.00	\$500,00

Inspections and Testing

Units (Quarterly)

Protection Systems

Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems

Quarterly Price For All Required Inspections and Testing

Testing

Testing

S400.00

\$1,600.00

Subtotal B: \$1,600.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$400,00	\$800.00

Subtotal C: \$800.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours *	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$125,00	\$1,000.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00
	•		\$1.00	

Subtotal D: \$4,400.00

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

Subtotal E: \$2,700.00

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection			100	
Fire Door Inspection	1	10	\$40.00	\$400.00

Subtotal F: \$400.00

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

Yes

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$10,405.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.

 Bidder/Vendor Information:

 Name:
 Brewer & Company of WV, Inc.

 Address:
 3601 7th Ave., Charleston, WV 25387

 Phone No.:
 304-744-5314

 Fax No.:
 304-744-4899

 Email Address:
 doug.meeks@brewerfire.

 Authorized Signature
 Authorized Signature

^{*} Quantities are estimated for bid evaluation purposes only

^{**} Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

#### J. M. Chick Buckbee Juvenile Center, 144 Jerry Lane, Augusta, WV 26704

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$1,000.00	\$1,000.00

Subtotal A: \$1,000.00

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems			
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$500.00	\$2,000.00

\$2,000.00 Subtotal B:

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems	. 20			
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000.00	\$2,000.00

Subtotal C: \$2,000.00

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours *	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$150.00	\$3,600.00
Overtime Labor Rate	Hour	8	\$150.00	\$1,200.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

\$5,200.00 Subtotal D:

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

\$2,700.00 Subtotal E:

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection				
Fire Door Inspection	1	10	\$40.00	\$400.00

\$400.00 Subtotal F:

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$13,305.00

Yes

W. m.

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)

For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.

Bidder/Vendor Information: Brewer & Company of WV, Inc. 3601 7th Ave., Charleston, WV 25387 Name: Address: 304-744-5314 Phone No.: Fax No.: 304-744-4899 Email Address: doug.meeks@brewerfire. Authorized Signature

* Quantities are estimated for bid evaluation purposes only

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

#### Kenneth Honey Rubenstein Juvenile Center, 141 Forestry Camp Road, Davis, WV 26260

	Annual Price For All Required Inspections and Testing	Unit Price Per Year For All Required Inspections and Testing	Units (Annual)	Inspections and Testing Fire Alarm Systems
	\$1,000.00	\$1,000.00	1	Fire Alarm Systems and Batteries
\$1,000.0	Subtotal A:	Ī		
	Annual Price For All Required Inspections and Testing	Quarterly Price For All Required Inspections and Testing	Units (Quarterly)	Inspections and Testing
	\$4,000.00	\$1,000.00	4	Fire Protection Systems  Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems
\$4,000.0	Subtotal B:			
Annual Price For All Required Inspections and Testing	Unit Price Per Semi Annual For All Required Inspections and Testing	Units (Semi-Annual)	Units	Inspections and Testing
\$2,000.00	\$1,000.00	2	Month	Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers
\$2,000.0	Subtotal C:	I		
Extended Amount	Unit Price	Estimated Annual Hours	Unit of Measure	Repairs Hourly Rates
\$3,600.0	\$150.00	24	Hour	Regular Time Labor Rate
\$1,200.0	\$150.00	8	Hour	Overtime Labor Rate
\$200.0	\$50.00	4	Hour	Holiday Time Labor Rate
\$200.0	\$50.00	4	Hour	Emergency Time Labor Rate
\$5,200.0	Subtotal D:	]		
Extended Amount	Markup Percentage	i Parts Cost **	Estimated	Parts Quote
\$2,700.0	35.00%	,000.00		Parts
	Subtotal E:			
\$2,700.0				
Annual Price For All	Unit Price Per Annual For All Required Inspections and Testing	Estimated Number of Fire Doors *	Units (Annual)	Fire Door Inspection
Annual Price For All Required Inspections and Testing	All Required Inspections and Testing	Doors *		Fire Door Inspection
Annual Price For All Required Inspections and	All Required Inspections		Units (Annual)	
Annual Price For All Required Inspections and Testing \$400.00	All Required Inspections and Testing	Doors *		Fire Door Inspection
Annual Price For All Required Inspections and Testing \$400.00 \$400.0 Annual Price For All	All Required Inspections and Testing \$40.00	Doors *		Fire Door Inspection
Annual Price For All Required Inspections and Testing \$400.00  \$400.00  Annual Price For All Required Inspections and	All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections	Doors *  10  Estimated Number of Backflow Preventer	1	Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices

FACILTY	BID AMOUNT (by adding subtotals A, B, C, D, E, F and G):	\$15,305.00
V-d	Vas (No)	
Vendor can do programing on multiple fire alarm systems listed below: ( For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Hon-		

Name:	Brewer & Company of WV, Inc.			
Address:	3601 7th Ave., Charleston, WV 25387			1
Phone No.:	304-744-5314			
Fax No.:	304-744-4899	-		
Email Address:	doug.meeks@brewerfire.		1 2 100	
Authorized Signature			INI.	

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

#### Lorrie Yeager Juvenile Center, 907 Mission Drive, Parkersburg, WV 26101

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Alarm Systems			
Fire Alarm Systems and Batteries	1	\$800.00	\$800.00

Subtotal A:

Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems			
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$400.00	\$1,600.00

Subtotal B: \$1,600.00

Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$500.00	\$1,000.00

\$1,000.00 Subtotal C:

Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.00
Overtime Labor Rate	Hour	8	\$125.00	\$1,000.00
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.00
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.00

\$4,400.00 Subtotal D:

Parts Quote	Estimated Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2,000.00	35.00%	\$2,700.00

\$2,700.00 Subtotal E:

Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	
Fire Door Inspection				
Fire Door Inspection	1	10	\$40.00	\$400.00

\$400.00 Subtotal F:

Backflow Preventer Devices Inspection/Testing	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Backflow Preventer Devices Inspection/Testing				
Backflow Preventer Devices Inspection/Testing	1	5	\$1.00	\$5.00

Subtotal G: \$5.00

FACILTY BID AMOUNT (by adding subtotals A, B, C, D, E, F and G): \$10,905.00

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc.

Bidder/Vendor Information: Brewer & Company of WV, Inc. 3601 7th Ave., Charleston, WV 25387 Name: Address Phone No.: 304-744-5314 Fax No.: 304-744-4899 Email Address: doug.meeks@brewerfire. Authorized Signature

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

#### Robert Shell Juvenile Center, Two O'Hanlon Place, Barboursville, WV 25504

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$600.00	\$600.00	
The room Systems and Datteries		\$600.00	3000.00	
		I	Subtotal A:	\$600.0
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems				
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$400.00	\$1,600.00	
			Subtotal B:	\$1,600.0
			Subtotal D.	31,000.00
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$500.00	\$1,000.00
			Substitute Co.	\$1,000,0
		1	Subtotal C:	\$1,000.0
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.0
Overtime Labor Rate	Hour	8	\$125.00	\$1,000.0
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.0
Emergency Time Labor Rate	Hour	4	\$50.00	\$200.0
		1	Subtotal D:	
			Subtotat D.	\$4,400.0
Parts Quote	Estimated	Parts Cost **		
Parts Quote Parts		I Parts Cost **	Markup Percentage 35.00%	Extended Amount
			Markup Percentage	Extended Amount \$2,700.0
			Markup Percentage 35.00%	\$2,700.0 \$2,700.0
Parts Fire Door Inspection			Markup Percentage 35.00%	Extended Amount \$2,700.0 \$2,700.0 Annual Price For All
Parts  Fire Door Inspection  Fire Door Inspection	S2 Units (Annual)	Estimated Number of Fire Doors *	Markup Percentage 35.00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing	Extended Amount \$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing
Parts Fire Door Inspection	\$2	.000.00  Estimated Number of Fire	Markup Percentage 35.00% Subtotal E: Unit Price Per Annual For All Required Inspections	Extended Amount \$2,700.0 \$2,700.0 Annual Price For All Required Inspections and
Parts  Fire Door Inspection  Fire Door Inspection	S2 Units (Annual)	Estimated Number of Fire Doors *	Markup Percentage 35.00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing	Extended Amount \$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing
Parts  Fire Door Inspection  Fire Door Inspection	S2 Units (Annual)	Estimated Number of Fire Doors *	Markup Percentage 35.00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing \$40.00	Extended Amount \$2,700.0 \$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing \$400.00
Fire Door Inspection Fire Door Inspection Fire Door Inspection Backflow Preventer Devices	Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer	Markup Percentage 35.00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections	Extended Amount \$2,700.0 \$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing \$400.00  \$400.00  Annual Price For All Required Inspections and

35.00	Subtotal G:
610 705 00	ELCH THE DEPARTMENT OF THE LEGISLA D. C. D. E. E. J. C.

Vendor can do programing on multiple fire alarm systems listed below: (Yes / No)
For example, Simplex/Grinnell, Fire-Lite Alarms, Edwards Systems, Honeywell, Johnson Controls, Potter, etc Yes

Bidder/Vendor Information:				
Name:	Brewer & Company of WV, Inc.			
Address:	3601 7th Ave., Charleston, WV 25387			A
Phone No.:	304-744-5314			
Fax No.:	304-744-4899		1 -	1/
Email Address:	doug.meeks@brewerfire.	Y	12	
Authorized Signature			IVI.	

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections	Annual Price For All Required Inspections and	
Fire Alarm Systems		and Testing	Testing	
Fire Alarm Systems and Batteries	1	\$500,00	\$500,00	
			Subtotal A:	\$500.0
	<u> </u>			
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems		-		
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$400.00	\$1,600.00	
			Subtotal B:	\$1,600.0
			Unit Price Per Semi	Annual Price For All
Inspections and Testing	Units	Units (Semi-Annual)	Annual For All Required Inspections and Testing	Required Inspections and Testing
Fire Protection Systems				
Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$500.00	\$1,000.00
		A1 1 4 4	Subtotal C:	\$1,000.0
		Estimated Annual Hours		
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.6
Overtime Labor Rate	Hour	8	\$125.00	\$1,000.6
Holiday Time Labor Rate  Emergency Time Labor Rate	Hour Hour	4 4	\$50.00 \$50.00	\$200.6 \$200.6
Parts Quote	Estimated	i Parts Cost **	Markup Percentage	Extended Amount
Parts	\$2	,000.00	35.00%	\$2,700.
			Subtotal E:	\$2,700.0
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection Fire Door Inspection	1	10	\$40.00	\$400.00
Pile Door hispection	the same the same of	10	\$40.00	3100.00
			Subtotal F:	\$400.
	Unite (Amusel)	Estimated Number of Backflow Preventer	Unit Price Per Annual For All Required Inspections	Annual Price For All Required Inspections and
Backflow Preventer Devices Inspection/Testing	Units (Annual)	Devices *	and Testing	Testing
Inspection/Testing Backflow Preventer Devices	Units (Annuar)	The state of the s	and Testing	Testing
Inspection/Testing	l I	The state of the s	and Testing	\$5.00
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices		Devices *		
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	1	Devices *	\$1.00 Subtotal G:	\$5.00
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing	FACILTY	Devices *  5  BID AMOUNT (by adding sub	S1.00  Subtotal G: totals A, B, C, D, E, F and G):	\$5.00
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	FACILTY m systems listed below: (1	Devices *  5  BID AMOUNT (by adding sub Yes / No)	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.00
Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing	FACILTY m systems listed below: (1	Devices *  5  BID AMOUNT (by adding sub Yes / No)	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.00
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alarm For example, Simplex/Grinnell, Fire-Lite Alarms Bidder/Vendor Information: Name:  B	FACILTY m systems listed below: (*) s, Edwards Systems, Hone Brewer & Company of WV	Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.00
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alarm For example, Simplex/Grinnell, Fire-Lite Alarms Bidder/Vendor Information: Name:  B	FACILTY m systems listed below: ('s, Edwards Systems, Hone	Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.00
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alarms For example, Simplex/Grinnell, Fire-Lite Alarms Bidder/Vendor Information: Name:  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices  Backflow	FACILTY m systems listed below: (*) s, Edwards Systems, Hone Brewer & Company of WV 6601 7th Ave., Charleston,	Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.00
Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alarm For example, Simplex/Grinnell, Fire-Lite Alarms  Bidder/Vendor Information: Name: Baddress: Beddervendor Information: 3	FACILTY m systems listed below: (*) s, Edwards Systems, Hone Brewer & Company of WV	Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal G: totals A, B, C, D, E, F and G): Yes	\$5.00

NOTES:

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

		Trans n		
Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Alarm Systems Fire Alarm Systems and Batteries	1	\$800.00	\$800.00	
the frame systems and butteries		4000,00		
			Subtotal A:	\$800.0
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
ire Protection Systems				
Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$450.00	\$1,800.00	
			Subtotal B:	\$1,800.0
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
ire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$550,00	\$1,100.00
		- 1	Subtotal C:	\$1,100.0
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount
Regular Time Labor Rate	Hour	24	\$125.00	\$3,000.0
Overtime Labor Rate	Hour	8	\$125,00	\$1,000.0
Holiday Time Labor Rate	Hour	4 4	\$50.00 \$50.00	\$200.0 \$200.0
Emergency Time Labor Rate	Hour	100		
			Subtotal D:	\$4,400.0
Parts Quote Parts		Parts Cost **	Markup Percentage 35.00%	Extended Amount \$2,700.0
	ong to sail to		Subtotal E:	\$2,700.0
Fire Door Inspection	Units (Annual)	Estimated Number of Fire Doors *	Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection	1	10	\$40.00	\$400.00
Fire Door Inspection Fire Door Inspection	1	10	\$40.00	
			Subtotal F:	\$400.0
	Units (Annual)	Estimated Number of Backflow Preventer Devices *		\$400.0 Annual Price For All
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Backflow Preventer Devices		Estimated Number of Backflow Preventer	Subtotal F: Unit Price Per Annual For All Required Inspections	\$400.0 Annual Price For All Required Inspections and
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices		Estimated Number of Backflow Preventer	Subtotal F: Unit Price Per Annual For All Required Inspections	\$400.0 Annual Price For All Required Inspections and
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Estimated Number of Backflow Preventer Devices *	Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00	Annual Price For All Required Inspections and Testing \$5.00
Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)  1  FACILTY  m systems listed below: (	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing  S1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	S400.0  Annual Price For All Required Inspections and Testing  \$5.00  \$11,205.0
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing	Units (Annual)  1  FACILTY  m systems listed below: (	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing  S1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	S400.0  Annual Price For All Required Inspections and Testing  \$5.00  \$11,205.0
Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  //endor can do programing on multiple fire alar for example, Simplex/Grinnell, Fire-Lite Alarm	Units (Annual)  1  FACILTY  m systems listed below: (	Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	Subtotal F: Unit Price Per Annual For All Required Inspections and Testing  S1.00  Subtotal G: totals A, B, C, D, E, F and G): Yes	S400.0  Annual Price For All Required Inspections and Testing  \$5.00  \$11,205.0

NOTES:

Phone No. Fax No.: Email Address: Authorized Signature 304-744-5314

304-744-4899 doug.meeks@brewerfire.

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Facility Bid Amount Pricing Page

## Vicki V. Douglas Juvenile Center, 900 Emmett Rousch Drive, Martinsburg, WV 25401

Inspections and Testing	Units (Annual)	Unit Price Per Year For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing		
Fire Alarm Systems		and resting	resting		
Fire Alarm Systems and Batteries	1	\$1,000.00	\$1,000.00		
			Subtotal A:	\$1,000.00	
Inspections and Testing	Units (Quarterly)	Quarterly Price For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing		
Fire Protection Systems  Fire Protections Systems including - Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems	4	\$400.00	\$1,600.00		
			Subtotal B:	\$1,600.00	
Inspections and Testing	Units	Units (Semi-Annual)	Unit Price Per Semi Annual For All Required Inspections and Testing	Annual Price For All Required Inspections and Testing	
Fire Protection Systems Fire Protections Systems including - Kitchen Fixed Fire Suppression Systems and Fire Extinguishers	Month	2	\$1,000 00	\$2,000.00	
Extinguishers			Subtotal C:	\$2,000.00	
Repairs Hourly Rates	Unit of Measure	Estimated Annual Hours	Unit Price	Extended Amount	
Regular Time Labor Rate	Hour	* 24	\$125.00	\$3,000.0	
Overtime Labor Rate	Hour	8	\$125.00	\$1,000.0	
Holiday Time Labor Rate	Hour	4	\$50.00	\$200.0	
Emergency Time Labor Rate	Hour		\$50.00 Subtotal D:	\$200.0 \$4,400.0	
			5,000,000,000		
Parts Quote	Estimate	I Parts Cost **	Markup Percentage	Extended Amount	
Parts Quote Parts		I Parts Cost **	Markup Percentage 35.00%	Extended Amount \$2,700.00	
Parts Fire Door Inspection			35.00%  Subtotal E:	\$2,700.0 \$2,700.0 Annual Price For All	
Parts Fire Door Inspection Fire Door Inspection	S2 Units (Annual)	Estimated Number of Fire	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing	\$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing	
Parts Fire Door Inspection	\$2	Estimated Number of Fire	35.00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00	\$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing \$400.00	
Parts Fire Door Inspection Fire Door Inspection	S2 Units (Annual)	Estimated Number of Fire	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing	\$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing \$400.00	
Parts Fire Door Inspection Fire Door Inspection	S2 Units (Annual)	Estimated Number of Fire	35.00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00	\$2,700.0 \$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  \$400.00  Annual Price For All	
Fire Door Inspection Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices	Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections	\$2,700.0 \$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and	
Fire Door Inspection Fire Door Inspection Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices	Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections	\$2,700.0 \$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing	\$2,700.0 \$2,700.0 \$2,700.0 Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices	Units (Annual)  Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00	\$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing	Units (Annual)  Units (Annual)  Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  Subtotal G:	\$2,700.0 \$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Comparison of the preventer Devices Inspection/Testing  Devices Inspection/Testing  For example, Simplex/Grinnell, Fire-Lite Alarm	Units (Annual)  Units (Annual)  Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  Subtotal G:	\$2,700.0 \$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:	Units (Annual)  Units (Annual)  Units (Annual)	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  Subtotal G:	\$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00 \$5.00	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:  Name:	Units (Annual)  Units (Annual)  Units (Annual)  FACILTY m systems listed below: ( is, Edwards Systems, Hon	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  Subtotal G:	\$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00 \$5.00	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Wendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information:  Name:	Units (Annual)  Units (Annual)  Units (Annual)  FACILTY m systems listed below: ( ss, Edwards Systems, Hon Brewer & Company of W	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  Subtotal G:	\$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00 \$5.00	
Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Fire Door Inspection  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Backflow Preventer Devices Inspection/Testing  Vendor can do programing on multiple fire alar For example, Simplex/Grinnell, Fire-Lite Alarm  Bidder/Vendor Information: Name: Address:  Phone No.: Fax No.:	Units (Annual)  Units (Annual)  Units (Annual)  FACILTY  m systems listed below: ( is, Edwards Systems, Hon  Brewer & Company of W  3601 7th Ave., Charleston	Estimated Number of Fire Doors *  10  Estimated Number of Backflow Preventer Devices *  5  BID AMOUNT (by adding sub Yes / No) eywell, Johnson Controls, Potter,	35,00%  Subtotal E:  Unit Price Per Annual For All Required Inspections and Testing  \$40.00  Subtotal F:  Unit Price Per Annual For All Required Inspections and Testing  \$1.00  Subtotal G:  Subtotal G:	\$2,700.0 \$2,700.0  Annual Price For All Required Inspections and Testing \$400.00  Annual Price For All Required Inspections and Testing \$5.00 \$5.00	

^{*} Quantities are estimated for bid evaluation purposes only.

** Estimated cost for bid evaluation purposes only.

#### Contract Bid Amount Pricing Page

Facility	Inspections and Testing — Fire Alarm Systems, Fire Alarm Systems and Batteries, Subtotal A	Inspections and Testing – Fire Protection Systems, Fire Protection Systems Including: Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems, Subtotal B	Inspections and Testing – Fire Protection Systems, Fire Protection Systems Including: Kitchen Fixed Fire Suppression Systems and Fire Extinguishers, Subtotal C	Repairs Hourly Rates, Subtotal D	Parts Quote, Subtotal E	Fire Door Inspection, Subtotal F	Backflow Preventer Devices Inspection/Testing, Subtotal G	Facility Bid Amount (by adding subtotals A, B, C, D, E, F, and G)
Beckley Correctional Center and Jail	\$450.00	\$1,000.00	\$700.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$9,855.00
Charleston Correctional Center and Jail	\$600.00	\$1,200.00	\$700.00	\$4,600.00	\$2,700.00	\$400.00	\$5,00	\$10,205.00
Denmar Correctional Center and Jail	\$1,400.00	\$2,800.00	\$1,300.00	\$5,600.00	\$2,700.00	\$400.00	\$5.00	\$14,205.00
Huttonsville Correctional Center and Jail	\$4,000.00	\$4,000.00	\$2,000.00	\$5,400.00	\$2,700.00	\$400.00	\$5,00	\$18,505.00
Lakin Correctional Center and Jail	\$1,600.00	\$4,800.00	\$2,500.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$16,605.00
Mount Olive Correctional Complex and Jail	\$3,000.00	\$5,000.00	\$2,500.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$18,205.00
Parkersburg Correctional Center and Jail	\$1,250.00	\$1,600.00	\$1,000.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$11,555.00
Pruntytown Correctional Center and Jail	\$1,500.00	\$4,000.00	\$2,000.00	\$4,600.00	\$2,700.00	\$400.00	\$5,00	\$15,205.00
Saint Marys Correctional Center and Jail	\$2,000.00	\$2,800.00	\$2,000.00	\$4,600.00	\$2,700.00	\$400,00	\$5.00	\$14,505.00
Salem Correctional Center and Jail	\$1,000.00	\$4,000.00	\$1,800.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$14,505.00
Central Regional Jail and Correctional Facility	\$1,000.00	\$2,000.00	\$800,00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$11,505.00
Eastern Regional Jail and Correctional Facility, Building No. 1	\$1,500.00	\$2,000.00	\$2,000.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$13,205.00
Eastern Regional Jail and Correctional Facility, Building No. 2	\$1,500.00	\$2,000.00	\$2,000.00	\$4,600.00	\$2,700.00	\$400.00	\$5,00	\$13,205.00
Northern Regional Jail and Correctional Facility	\$1,500.00	\$2,000.00	\$2,000.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$13,205.00
North Central Regional Jail and Correctional Facility	\$1,000.00	\$2,000.00	\$1,500.00	\$4,600.00	\$2,700.00	\$400.00	\$5,00	\$12,205.00
Potomac Highlands Regional Jail and Correctional Facility	\$1,000.00	\$2,000,00	\$2,000.00	\$5,400,00	\$2,700,00	\$400,00	\$5,00	\$13,505,00
South Central Regional Jail and Correctional Facility	\$750.00	\$1,400.00		\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$10,855.00
Southern Regional Jail and Correctional Facility	\$800.00	\$1,600.00	\$1,500.00	\$4,600.00	\$2,700.00	\$400.00	\$5.00	\$11,605.00
South Western Regional Jail and Correctional Facility	\$1,000.00	\$1,600.00	\$1,500.00	\$4,600.00	\$2,700.00	\$400.00	\$5,00	\$11,805.00
Tygart Valley Regional Jail and Correctional Facility	\$1,000.00	\$2,000,00	\$1,500.00	\$4,600.00	\$2,700,00	\$400.00	\$5,00	\$12,205.00
Western Regional Jail and Correctional Facility	\$750.00	\$1,600.00		\$4,600.00	\$2,700.00	\$400,00		\$11,555.00
Donald R. Kuhn Juvenile Center	\$800.00	\$1,200.00		\$4,400.00		\$400.00		\$11,005.00
Gene Spadaro Juvenile Center	\$500.00	\$1,600.00	\$800.00	\$4,400.00		\$400,00		\$10,405.00
James H. Tiger Morton Juvenile Center	\$800.00	\$1,800.00	\$1,100.00	\$4,400,00	\$2,700.00	\$400,00		\$11,205.00
J. M. Chick Buckbee Juvenile Center	\$1,000.00	\$2,000.00	\$2,000,00	\$5,200.00	\$2,700.00	\$400,00		\$13,305.00
Kenneth Honey Rubenstein Juvenile Center	\$1,000.00	\$4,000.00		\$5,200,00		\$400.00		\$15,305.00
Lorrie Yeager Juvenile Center	\$1,000.00	\$4,000.00		\$4,400,00		\$400.00		\$10,905.00
Robert Shell Juvenile Center	\$600.00	\$1,600.00		\$4,400.00		\$400.00		\$10,705.00
Sam Perdue Juvenile Center	\$500.00	\$1,600.00		\$4,400.00		\$400.00		\$10,605.00
Vicki Douglas Juvenile Center		\$1,600.00		\$4,400.00	\$2,700.00	\$400.00		\$12,105.00
uthorized Signature:	\$1,000.00	51,600.00	52,000.00	54,400.00	32,700.00		RACT BID AMOUNT:	\$383,750.00

De me

Backflow Preventer
Devices Inspection/Testing,
Subtotal G

Facility Bid Amount (by adding subtotals A, B, C, D, E, F, and G)

Fire Door Inspection, Subtotal F

Parts Quote, Subtotal E

#### ARFQ 0608 DCR2500000077 - Fire Alarm and Fire Protection Contract

#### Contract Bid Amount Pricing Page

Facility	Inspections and Testing — Fire Alarm Systems, Fire Alarm Systems and Batteries, Subtotal A	Inspections and Testing – Fire Protection Systems, Fire Protection Systems Including: Sprinkler Systems, Fire Hydrants, Fire Pumps, and Stand Pipe Systems, Subtotal B	Inspections and Testing – Fire Protection Systems, Fire Protection Systems Including: Kitchen Fixed Fire Suppression Systems and Fire Extinguishers, Subtotal C	Repairs Hourly Rates, Subtotal D			
Bidder/Contractor Information:							
Name:	Brewer & Company of WV, Inc.						
Address:	3601 7th Ave., Charleston, WV 25387						
Phone No.:	304-744-5314			1			
Fax No.:	304-744-4899		1		1		
Email Address:	doug.meeks@brewerfire.		15				
Authorized Signature:		A	m. w				
		9					